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I discuss the basis of holistic physics, in which matter is founded on the principle of the orbital system. Three stages - particles, atoms, gravitational systems - form the scaffold to matter's diversity.  The density of the enclosed field of a system is inversely proportional to the system size, with the field content constant for all systems.  Space is the nonmaterial medium for light waves and fields.  The lower limit to physical reality is the reciprocal of light's velocity 
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 below which actions are undetectable in virtual space.  Protons and neutrons have an orbital system consisting of a nucleus of charged neutrinos surrounded by three shells of virtual photons.  Space consists of points, the least bits of cohesion.  The spinning oscillating points generate a helical doublet of virtual photons around them that was the basis of orbital systems.  The points comprise the matrix and are the cause of its rigidity.  In the synthesis of heavy particles astronomically large sections of the matrix rotated and contracted.  As the temperature rose, the matrix melted and points fused.  Following the explosive eruption the temperature plunged and the matrix again froze to become the medium for light and fields.

1. Introduction
We live in a universe of matter and causes. Each change has a cause, and in theory each cause has an explanation. The order and regularities of nature are expressed mathematically, and constants are given the status of natural law.  Discoveries are made empirically and tested experimentally.  Theories make the findings rational.  The knowledge is extended by reductionism.

The discoveries by this method have been remarkable, the technology from it truly astounding.  This scientific method, however, has been unable to resolve a major issue.  Physicists know matter by its properties.  It is closed, has mass, and occupies space.  It consists of atoms, and atoms consist of particles. Mass and its energy equivalent are interconvertible.  Despite this, physicists do not know what matter is.
The problem is you cannot explain something empirically by its properties.  Properties are secondary. Something can be known only by the principle upon which it is founded and exists.  A principle not only explains what something is, it is singular and true from the origin throughout its existence.  To know what matter is we have to determine the principle upon which it exists.

2. The Two Sides of Reality

There is a dichotomy in nature over which scientists and philosophers stumble.  The whole is greater than the sum of the parts. Everything is a whole and consists of parts, and it is a part of something larger.  There is, therefore, a continuum of two-sided nature flipping from the least particles on the very edge of physical existence to the cosmic giants and patterns in the universe.  Everything known shows this dichotomy.

The way we think allows us to perceive this duality.  We see objects in their entirety or think of them analytically, consisting of parts and pieces.  These two sides of nature complement each other, but exist separately like two sides of a coin.  If we close our eyes and think of a house, we think of its entirety, but if we count windows, we shift to the left brain and think analytically.

The two methods of perception show the world in different complexities.  Seeing our surroundings as whole objects and patterns reveals the world in its simplest form, viewing it analytically shows it in all its complexity.  To comprehend the nature of reality we need both perspectives.  Physics, however, is based on linear causality and analysis, and physicists try to form a conception of the material universe from the detail of the parts.  But trying to construct the world without a holistic conception is like trying to build a house without a blueprint.  Not knowing what the house should look like can lead to a disappointing result.

The universe, therefore, is like an Escher painting.  What we see depends upon how we perceive it.  We can switch our perception back and forth, but in nature wholes and parts exist simultaneously.  Physicists look with one perception and have trouble seeing the other.  A physics, however, cannot claim validity unless it shows how the wholes and the parts exist together in an integrated manner.

3. A Reflection in a Mirror

We think and define space, matter, motion and time as we experience them.  In physics motion is a property of matter, not an integral part of it.  It is a rate and relative, separate from the nature of matter itself.  Time is an independent abstract scale for measuring change, space is a non-participating void.

Newton's physics is based on his laws of motion and concept of gravity as a force of attraction acting across space.  This gives the impression that the universe is held together by force, and if it weren't for gravity, everything would either be mired in inertia or flying off in endless directions.

Dynamics is a physics of motion, it doesn't explain matter or mass.  Galileo showed that motion can be described mathematically, but it was the perpetual motion of the moon and planets without support that violated the rules of physics and required explanation.

Newton worked out an equation for orbital systems by turning perpetual motion into a perpetual fall.  He made Galileo's continual motion into rectilinear inertial motion and diverted it into a fall by calling gravity a force of attraction across space.  To make the equation work he added a gravitational constant G. But G is an irrational number that has to be determined empirically.

G is like 
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, it can only be an approximation and never exact.  But nature isn't inexact, it consists of whole numbers or fractions of them.  In other words, Newton faced the same classic problem of squaring a circle, how to calculate the area and circumference of a circle exactly with linear mathematics. It can't be done.  Only an approximation is possible, so the approximation is shifted to an irrational number pi, or in the case of Newton, G.  What this means, of course, is that physicists are trying to describe nature by a mathematical method that doesn't actually fit.

To Newton, space was an absolute non-participating void. He regarded time as an independent uniform and unidirectional scale.  Light was not in his dynamics.  He assumed instaneity for all events in the universe, and believed light moved through space the way objects move through space.

Einstein added the velocity of light and the time lapse of its transmission to Newton's dynamics.  He centered reality on the observer and regarded the time of an event to be when it is seen by the observer.  He dismissed absolute space as the final reference for motion and made motion relative to the velocity of light.  He then contended that the velocity of light is constant because of the "relativistic effects" occurring with the observer and instruments where matter and time are no longer absolutes.  When a body moves its mass increases, its length elongates, and time slows.

In physics mathematics should not only be accurate, it should show the true character of nature.  But because nature cannot be described in whole numbers using linear math, and because we see it relative to us, abstractions are added to the equations to make them accurate.  Newton added action at a distance, Einstein added relativistic effects. These do not exist in nature and are simply innovations of our physics.  We, therefore, are not seeing a true image of nature, but the reflection of our imposition.
As long as we believe the world is relative, we are seeing only a reflection.  The mirror that reflects Newton's dynamics is flat with no depth, but when Einstein added light to the equations it took the shape of a carnival mirror.  To have lenses to correct the distorted image Einstein used relativistic effects and distorted the mass and shape of the observer.  Mathematically, this is a practical procedure as long as we understand it for what it is.  It is simply a device like Newton's action at a distance to make accurate the equations of what we see and measure.  But when physicists start believing that we are at the center of a misshapened universe, it is the time to look for a more valid conception.  We need to consider our other perception, that of whole systems.

To look past the reflection we have to separate our conception of the universe from the reality as we see and measure it to one that makes it rational by its own conditions.  Like Copernicus, we have to detach our conception from relativity that keeps us at the center and imagine how the material universe exists independent of us on absolute values and composition.  The constant upon which it is based is not the velocity of light as the limit of motion, it is the unalterable composition of space.

4. Motion is the Natural State
The universe doesn't exist because of us.  Take away our interference and it continues without us.  We have given ourselves a false impression of the universe from our procedures to know it.  In order to see and measure we interject ourselves or our probes into nature and determine the response.  It is these responses - weight, force, resistance - that we use to make our physics. But these parameters don't exist without our intervention.

Consider the apple.  Newton saw the apple fall to the ground and assumed that it was pulled to the earth by the attracting force of gravity.  But if the earth had been a point mass as Newton had to assume for his calculations the apple would have behaved quite differently.  When the apple fell it would have continued to fall at an accelerating rate, zoomed past the earth point at an enormous velocity, and continued on the other side, decelerating until it slowed to a point opposite of the tree, stopping momentarily, then falling back in a reverse of its course in an extremely elongated orbit with no net gain or loss of energy.  The only reason the apple fell to the ground in the orchard was because the earth bulged out and got in the way.

It is motion, therefore, not rest that is the natural state [1].  There are no forces holding the universe together, they exist only in the minds and equations of physicists.  The universe and the matter in it are self-contained and self-creating.  To see this side of reality we have to look past our reflection to the other side of the Looking Glass where the world is quite different and not at all like we think it is.

Space, matter, motion and time have different meanings in an independent universe.  They are not separate categories, but rather are fully integrated.  Motion and time are absolute quantities and integral components of matter.  Space is no longer merely an arena in which action occurs, it is part of matter's composition. 

5. The Principle of an Orbital System

To understand the universe we must know the principle upon which matter exists.  Matter is characterized by having mass, but physicists have no explanation for mass.  Newton simply referred to it as a fundamental property.  Mass has an energy equivalence 
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, but to call it congealed energy is vague and meaningless.  Because there is no exact definition of matter, there is no understanding of its singular properties.

In nature, space, matter and motion are integrated.  Physicists separate them into categories, and a goal of physics has been to unify them into a single theory.  Just as we need to express nature in its own language of mathematics, we need to find the same procedure by which nature is integrated.

In physics motion is regarded as a property of matter, not as a part of it.  This integration has never been achieved.  Instead, motion has become a part of the energy concept and is never considered separate from mass.  All forms of motion have an energy value.  When force is applied to an object its mass in motion becomes momentum.

We are accustomed to seeing motion as a rate and relative to us. Matter, on the other hand, is closed, finite, and absolute.  To be a part of matter motion must also be closed and absolute.  To integrate them then, we have to change our impression and definition of motion and think of matter existing in some common form of nature in which motion is an integral part.

The orbital system is such a form.  Newton saw motion and matter as separate categories and bodies moving in orbit by a balance of forces, but that is from a terrestrial point of view in seeing objects fall.  Physicists have not made the conceptual leap to thinking of orbital systems as a structure of matter in a hierarchy.  Instead of describing the motion of the moon and planets as a balance between inertial motion and gravitational attraction, we can imagine it as the way in which nature creates matter.  There are then three stages of matter - particles, atoms, gravitational systems - that differ only by the constituents and the type and density of field which is enclosed.

Orbital motion explains how matter occupies space and why space is all-pervasive.  A component in continual motion around a center screens out everything larger and segregates the material world into sizes.  This is apparent with atoms which are impenetrable by everything larger than a particle.  In orbital systems the length and time of the orbit are fixed values.  We construct our calendars by the cosmic system and make clocks precise by the atomic.  Not only are motion and time in an orbital system absolute, they are together.  With this comprehension of matter, we can imagine ourselves inside looking out through the skeletal frame of the material world.

In the three stages of the hierarchy - particles, atoms, gravitational systems - the structural motion of particles creates the spatial conditions upon which the other two systems form.  With the neutrino-photon model for particles, the orbital component is photonic.  Light travels through space as a wave, but when in the structure of a particle, the motion is closed and its wave motion reverberates through the surrounding space as fields.  Two types of fields are generated, corresponding to the two elements of spiraling oscillating orbital motion.  The spiral has either of opposed orientations, giving the oppositely charged electric fields, while the undulation generates an unpolarized gravitation field.
6. The Nature of Space

The universe consists of matter and space that seem to have no causal effect on each other, yet both are a part of the universe.  They each have a singular property, matter occupies space, space is all-pervasive.  Space is a part of the world we live in, but apparently we have no interaction with it.  It seems to be just nothing.  As a result, physics has been based on laws of motion and the force concept.  Light, however, has never fitted into this scheme.  Newton believed it to be corpuscular and traveled through space the way matter does.
Physics based solely on matter and energy with no role for space is not a complete science.  Since we have no direct interaction with space its nature cannot be proven experimentally.  We can, however, infer it by what is needed to make rational what we know about light and fields.  Light has no material existence and fields apparently exist but are nonmaterial.  To make light and fields rational space must be their nonmaterial medium and have extremely strong cohesion.

With this conception of space, we can place in order of occurrence the principal components of the universe.  Of the two components - matter and space - one had to have always existed.  Matter has limits and a beginning, while space has neither.  It is timeless, without dimension.  Space has always been and always will be.  Therefore matter and energy originated from space [2].
Once we accept that space has a meaningful existence, albeit nonmaterial, its role in the world as we know it can be deduced.  Foremost, it is the nonmaterial medium with the single feature of cohesion which accounts for light's transverse waves and enormous velocity.  Material bodies do not move through space as the medium for light, but move separated materially from it in their self-contained structures.  They emit a gravitational field which reverberates in the medium and gives them resistance to displacement.  There are, therefore, two states of space that account for the separate motions of light and material bodies.

With space the medium for light waves, light's velocity sets a lower limit to physical reality.  A wave cannot form faster than the preceding wave moves away.  In other words, the rate of the oscillator cannot be faster than the velocity of the waves.  There is, therefore, a lower limit to the size of a lightwave set at the reciprocal of its velocity 
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0.33x10 s/cm

).  Nothing smaller can be detected and measured.

The threshold, however, is not the end of space, only physical reality.  Beyond the limit toward the infinitesimal lies virtual space where motion and time are too small and rapid to be detectable.  We can deduce what happens in virtual space but cannot confirm it by observation.

Space consists of points, the least bits of cohesion.  Points have no dimensions, but their spinning and oscillation have extension into virtual space.  Points oscillate because of the cohesion, and spin because they can.  The closed helical oscillation of points was the forerunner of orbital systems of particles and atoms.  The synthesis of particles occurs in virtual space.

Space, therefore, is defined by the way things relate to it.  To light and fields it is the medium through which their waves are transmitted.  To bodies it is the void with which they have no interaction except by their gravitational fields.  And to particles it is the matrix in which dissociated neutrinos and photons react to form metastable and stable arrangements.

7. What is Matter?

Space is the nonmaterial medium for light and fields.  Matter generates a gravitational field in its surrounding space, occupying a space volume and resisting displacement.  Since objects move spontaneously in response to their space environments, there is no need for Newton's force concept.  This avoids a contradiction in Newton's theory that has been largely ignored.  Newton proposed that the force that moves an object and the inertia which resists that motion stem from the same source - the object's mass.  This, of course, is self-defeating and no less a contradiction than Aristotle's theory that the air that retards an arrow has created in it a commotion that carries the arrow forward after the force.

An object in space will move spontaneously to center itself in its space environment.  It is motion without a force in which centering in a nonuniform space is the cause.  This is consistent with Galileo's discovery that all objects fall at the same rate.  The mass of the body is unrelated to the motion. This is true for satellites where it is the motion of the satellite, not its mass, that determines the orbit.  The fall of the object, therefore, is determined, not by the mass of the object, but by the gradient of the earth's gravitational field, which is the same for all.  We can now disregard dynamics and interpret the properties of matter as a condition of an independent universe.

We know matter by its properties, but physicists don't know what it is.  We know it consists of atoms, and atoms consist of particles.  There is, therefore, a hierarchy, and we can assume that it extends to gravitational systems, based on the principle of orbital systems.

If space preceded matter, then particles condensed from space, or more correctly, from a feature of space.  Space is nonmaterial, but it has cohesion and supports wave motion.  Motion, therefore, is the single feature which transforms space into matter.  Matter occupies space and resists displacement by the principle of an orbital system.

An orbital system consists of a nucleus which generates a field in space around it.  Satellite particles then move into orbit around it, enclosing what is equal to the entire field in a single orbit.  For particles and atoms the nucleus and orbiting components are of opposite charge so that the whole field of the neutral system is contained within its confinement.

There are three stages of matter based on the orbital system.  The basic properties of material bodies - closed, self-contained, composition, occupying space and resisting displacement - originate in particles and are passed down to subsequent forms of matter that consist of them.  It is the composition that accounts for the stability, no t forces.

The enclosed space of an orbital system consists of the respective field, either electric or gravitational, and that space content of all systems is made constant by the orbital motion/time that encloses for neutral particles and atoms.  The size of an orbital system, regardless of the stage, is inversely proportional to the density of the enclosed field.  It is this constant field content in the composition of matter that defines it.

8. The Proton/Neutron System

In physical reality neutrinos and photons are neutral.  A neutral particle, however, cannot be elementary, the material world consists of structures formed by the combination of opposites.  Neutrinos and photons are doublets of oppositely-charged halves that are too reactive to have an independent physical existence.  It was this reactivity below the threshold of materiality that created and made so durable the proton and neutron.

To understand the formation and composition of the particles we have to know what the neutrino is and how it fits into the scheme of things.  The neutrino is supposed to be without mass and charge, but presumably it consists of oppositely charged halves - positrinos and negatrinos.  If then the photon in virtual space can be dissociated into singles with a frequency and charge, they would be the orbiting component of the orbital system.  The neutrinos, because of their infinitesimal size, would logically be the nucleus.

There would then be positrinos and negatrinos in the nucleus with oppositely charged singles in orbit, where they are matched for the neutron and an unmatched component in the proton.  The mass of the particles would be in the frequency of the orbital components.  The charged neutrinos and singles would have their origin in the matrix of space.

Space is nonmaterial, but has a cohesion stronger than anything material.  It therefore consists of points, the least bits of cohesion.  Points are without dimension, but they oscillate and spin, and this action creates a double helical wave in virtual space around them.  The points have the characteristics of a neutrino, and its separation gives charged halves - the positrino and negatrino.  In the synthesis of complex orbital structure of the proton/neutron, the charged neutrino halves and the charged single wavelets combined into a stable arrangement and left virtual space to enter the physical world.

We can imagine atoms and particles as tiers of a hierarchy similar in structure but dissimilar in composition.  Motion is the structural feature, but the two forms of matter are divided by the two kinds of motion.  Atoms consist of electrons in orbital shells around a nucleus of protons and neutrons, while particles consist of virtual photons encasing a core of charged neutrinos.  Mass of the atoms resides in the rest mass of the particles, the mass of the particles is in the relativistic mass of the photons.

We can assume that both systems are stabilized by resonance and harmonics.  The orbitals of electrons correspond to integral wavelengths of the electrons, and the shells are spaced in a harmonic series expressed by 
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, where n refers to the shell number and indicating values 1, 4, 9, 16...  Electrons in an atom are locked into orbit by their wavelength and move in harmony with the electrons of the other shells.  The atom, therefore, is like a bell that achieves its own resonance as it vibrates in a strictly integral number of waves.

It seems reasonable to assume that particles are stabilized the same way.  There is, however, a difference between electrons and photons.  With electrons the wavelength of the particle correlates with its velocity, and the velocity of electrons is a variable that can adjust to the respective orbital shell.  With photons, on the other hand, the velocity is constant.  If the photons in nested shells are to oscillate in unison their spacing has to follow a different series.

A circumference is in direct ratio with the radius.  If the innermost shell consists of a single wavelength of the photon, then a photon with two wavelengths will be in a shell at a distance twice as far, and one with that number at a distance four times the inner radius.  This series 1, 2, 4, 8, has the formula 
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A model of this type is conceivable, except that mass corresponds to wavelength, and in this case, the circumference changes but the wavelength does not.  As a result, the photons in each shell would have the same mass.  On the other hand, if the series is retained and a single wavelength is assigned to each shell distance, then the mass of the particle will be greater with the inner shell and decrease by half with each successive shell.  The photons in all shells would then pulsate in unison.

There is now a correlation between electrons, positrons, and neutrinos.  In beta decay when an electron is emitted an antineutrino is emitted simultaneously, when a positron is emitted, there is a corresponding emission of a neutrino.  In the proposed model electrons and positrons stem from negative and positive photon halves.  There is, therefore, in the structure a correspondence of negative-oriented photons with an antineutrino and a positive-oriented photon with a neutrino.

The model, therefore, consists of a nucleus of neutrinos and antineutrinos paired with cyclic photons of opposed charge orientation.  The photons are in concentric shells spaced harmonically by the formula 
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.  And the mass sum of the photons equals the rest mass of the particle.

With these guidelines and consideration of the role of pions in the dissociation of protons, the apparent structure of the proton consists of four neutrino pairs in the nucleus surrounded by three shells of cyclic photons in the distribution of 
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, 2, and 6.  The shell energies are 268.08, 134.04, and 67.02 MeV, respectively.
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	134.04
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Table 1.  Composition of the proton 
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Shell III, the outer shell of 67.02 MeV, is the pion shell, and for the proton it contains three doublets of oppositely charged photons.  Each doublet with a mass of 134.04 MeV (2x67.02) is the precursor of neutral pions whose measured mass is 134.96 MeV.

Since the pion shell has assigned a mass of 67.02 MeV, the size for one wavelength is calculated as
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.  The wavelength corresponds to the circumference, so the radius is 
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2.94x10 cm

.  And this is in good agreement with the reported size of the proton.

The radius of the electron is 
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, the radius of the proton calculated from the model is essentially the same at 2.94x 
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.  Yet the proton has a composite structure and a mass that is 1,836 times that of the electron.  The model shows why they are the same.
The mass of the neutron is 939.57 MeV.  If now we assume that there is a balance of charged neutrinos and photon single stabilized by resonance in an orbital system, and the mass of the particle is in the frequency of the singles, an arrangement of three shells can be constructed.  There is one positive single with a mass 268.45 MeV. followed by shell II with a doublet with half the frequency and mass (2 x 134.22 MeV), and finally the third shell III with three doublets with mass 6 x 67.11 MeV.
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Table 2.  Composition of the neutron n
From the orbital structure of the neutron we can deduce how the system formed.  There are two types of components: the charged neutrinos in the nucleus and the charged photon singles with a frequency corresponding to a mass encircling it.  The complex system of three shells would have condensed on the simplest and most abundant species, and guided in order by resonance to stabilize the system of multiple shells.  At the core of the neutron structure is a neutrino pair with a single positive photon half fused to a neutrino pair and its photonic doublet.  The doublet probably caused separation of the inner doublet and bound strongly to the positive single by charge attraction.  Then three points each with their paired neutrinos and doublets condensed on this core by resonance to form the pion shell.
In the nucleus there are four positrinos and five negatrinos held together by the weak interaction.  Since neutrinos don't have a structure to couple, their binding presumably results from the neutrinos oscillating in unison.  This binding favors an even number of opposed charged neutrinos and makes the nucleus of the neutron inherently unstable.  The neutron in isolation decays in about 15 minutes, ejecting a negative neutrino and emitting a neutral neutrino, and converting to a proton and electron.
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Since a neutral neutrino is emitted, a positive neutrino must have been produced with the ejection of the negatrino to neutralize it.  Moreover, there are no electrons in a neutron, so the electron originated from a precursor or was generated in the decay process.  It couldn't have come from conversion of a single because they have large masses and balance the system.  When the negative neutrino leaves it must produce a highly energetic photon that splits into an electron and a positive neutrino.  This is a known conversion.

The neutrino leaving the nucleus in neutron decay is like an electron falling into a proton in K capture.  It makes a photon.  The photon is extremely energetic and below the threshold of stability.  It splits instantaneously, half forming an electron, half under the influence of the negatrino forming a positrino, that together are emitted as the neutral neutrino.

The outer shell of the proton/neutron is the pion orbit.  The pions themselves are not in the structure, but rather the doublets that are their precursors.  The pions consist of the neutral ion 
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 with a mass of 134.96 MeV and the charged ions iwth the mass 139.57 MeV.  The 
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 decomposes electromagnetically in 
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 seconds to two photons.  The indications are, therefore, that the 
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 is a doublet.  And from the model, presumably it has a positrino-negatrino nucleus.

If now a doublet consists of opposed singles and has a mass of 134.96 MeV, the structure of a charged pion with mass 139.57 MeV presents a problem for the photon model.  To have a charge it needs an odd number of singles.  But since the mass difference from a 
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 is an increase of only 4.61 MeV, a rational arrangement seems difficult. Therein comes the neutrino.

A pion has a doublet of single photons. If the charged pion has a nucleus consisting of a triplet of neutrinos, then one charged neutrino is unmatched and is responsible for the charge.  And in each case where a pair of particles differs by a charge and only slightly in mass, the charge apparently comes from an unmatched neutrino [3].
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Table 3.  The Composition of Particles

9. The Basis of Diversity

Size is the most obvious difference between the stages of matter.  By knowing that they are orbital systems allows us to make comparisons and gain insight to their reactions.

All orbital systems have in common a constant field content that is enclosed by the orbit.  They differ by the density of the field, which is inversely proportional to the size.  The size of the system depends on the velocity of the orbiting component.  The nuclear component creates the space environment around which the system forms.  The orbiting component carries the energy.

Particles and atoms are based on the opposed electric fields.  The strength of the force depends upon the distance between the poles.  The strong force of particles and the electromagnetic force of atoms differ only by the separation of the components, and hence the density of the enclosed field.  The point size of neutrinos allows the orbiting component to travel at the speed of light, making the system the small size of particles, while the slower velocity of electrons accounts for the size of atoms.

The energy of a system is in the orbiting component.  With atoms it is the kinetic energy of the electrons, with particles it is the frequency, and therefore the relativistic mass, 
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, of the photons.  When atoms couple the overall saving of kinetic energy of electrons in orbiting two nuclei is released as heat.  When protons and neutrons couple, enclosing two nuclei results in elongating the wavelength and lowering the frequency, with the difference in relativistic mass released as nuclear energy.

Members of the same stage of matter can couple to make multiples.  There is no change of components, the same field that makes the system is involved in coupling of the two members.  The coupling of protons and neutrons provides over one hundred types of elements; the coupling of atoms has been responsible for the immense diversity of molecules.  Coupling at one level of matter is fusion of the other.

10. Out of the Abyss

There is no existence without motion and time.  Even the most fundamental features of physical reality - dimensions, form, motion, time - had their origin in virtual space below the level of detection and measurement.

The matrix of space consists of points of oscillating bits of cohesion.  The spinning oscillating points create a doublet of helical frequencies around them.  There are, therefore, two components to a point, the charged halves of the oscillating cohesion, and the revolving doublet of motion and time.  The nuclear bits are the charged neutrinos, the doublets the photonic components.  In the synthesis of particles these components were dissociated and condensed into the complex orbital systems of protons and neutrons.

Atoms and particles have in common the orbital system and similar reactions.  They couple their orbitals to make multiples, and they fuse their nuclei to make complex derivatives.  There is reason to believe that the complex systems of protons and neutrons were synthesized by a procedure analogous to the procedure in which heavy elements were synthesized in the explosion of supernovae.

The proton/neutron system consists of a nucleus of charged neutrinos enclosed by three shells of virtual photons.  Like all orbital systems, it is composed of two types of related components bound by the fields that they emit.  This system originated in the space matrix.

Space consists of points spinning and oscillating, and generating doublets of helical motion in the space around them.  The points together make up the extremely rigid matrix which is the medium for light waves and fields, and their doublets are the forerunners of the orbital systems of matter.  In some manner the points of space interacted and transformed to the complex orbital system of particles.

Protons and neutrons are the heavy particles with complex structures that are equivalent to the heavy elements of the atomic system.  These particles were probably synthesized by a fusion process analogous to that of the heavy elements.  In the stars hydrogen is the fuel for fusing protons and neutrons by nucleosynthesis.  The elements that are produced are in turn fused, with each synthesis promoted by higher temperatures and pressure, and yielding additional energy.

A point consists of two parts, the cohesion bit that oscillates as two opposing charged halves, and the helical doublet that the spinning oscillation generates around it.  The point halves are the precursors of the charged neutrinos (
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) in the nucleus of the particles, the encircling doublets the orbiting photon halves.  In the matrix the doublets are generated by the points and are a part of it.  When the points fuse the neutrinos come together and are bound in the nucleus by oscillating in unison, while the doublets are in nested shells spaced by 
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 resonance.

For the points to fuse they had to have been free to move against each other to interact.  As long as they were bound together as the matrix they could not have moved.  In the creation process the temperatures had to have risen so high that the matrix melted.

To achieve this indescribable temperature the immense dimensions of the universe must have participated.  Motion is a quantity; temperature is its concentration.  Any motion reduced to a very small space will have a very high temperature.  The laser is an example. Space had two seemingly infinitesimal motions that when concentrated from an astronomically large area raised the temperature high enough to melt the matrix.

In order for the matrix to have motion the strength of the cohesion limits the extent to which it can bend, and this limits the size of a full circle.  In theory, however, anything no matter how rigid, if long enough can be curved back upon itself.  A steel rod that is too rigid to bend becomes a flexible wire when miles long.  Space with its cohesion comes under the same principle.  The rigidity of the matrix was no hindrance to vortices when the rotational motion was astronomically large.

The rigidity of the matrix would have had a vibrant motion which related to the fusion equilibrium.  Points would have vibrated against each other in an equilibrium that was far to the left, but when the interaction became extreme, the equilibrium shifted until fusion resulted.

Rotation was the primary motion. It confined the points so that any reduction within became a part of the process.  Temperature shifted the equilibrium toward fusion, which reduced the volume, increasing the temperature, and escalating the fusion. The rotation accelerated with reduction of size.

If now points in or near the center of the rotating space fused they set into play a process that was out of equilibrium.  The loss of points would create vacancies into which the surrounding points would fill.  This has the effect of causing a contraction and creating pressure on the center.  Increased pressure accelerated the fusion process, energy was released, which made the temperature rise, accelerating the contraction and pressure, and escalating the process.  It is a process that begins slowly but escalates exponentially and irreversibly until it collapses.

Once the matrix was melted the fusion of points did not face a high hurdle.  Unlike the repulsion of protons for the fusion of atoms, the points consist of both positive and negative neutrinos in pairs.  They could line up in pairs and bind weakly by oscillating in unison.

Condensation would have been in order of descending melting point.  The strength of bonding would have been strongest with the initial fusion and decreased in order.  A point has 
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 with an encircling 
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 doublet.  In fusion the doublet of the adjacent point pulled apart the doublet and locked to the 
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 in a fused product with the composition 
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.  This is the core of the neutron system.  The pion shell of three doublets with their nuclei then added to complete the neutron system of four positive and five negative neutrinos (
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) in the nucleus surrounded by the three shells of photons (1+, 2, 6).

The nucleus of charged neutrinos is bound by oscillating resonance.  This weak interaction favors an even number, and the neutron with the odd number of nine decays by ejecting a negatrino.  The ejected negative neutrino produces a metastable photon on leaving which splits to an electron and positrino.  The net result is the conversion of the neutron to a proton, electron, and a neutral neutrino, populating the universe with protons and electrons in exactly equal number.
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In the wake of the eruption the temperature plummeted and the matrix again froze to be the rigid medium of light and fields that it is today.

In a remote past over unimaginable time space separated into swirling masses of virtual reactions, and vortices of immense dimensions collapsed on themselves.  As they closed from low density to high, their rotations accelerated and their densities deepened.  The implosion that followed generated temperatures and pressures that ruptured the very fabric of space itself, and these dense cores of virtual space became stupendous machines of synthesis.

As the brew of dissociated fragments exploded, energy burst forth at a colossal rate, and in the quenching temperatures of expansion, complex particles condensed out.

The galaxies in the universe are like dust motes in a boundless room.  These stupendous beacons of stellar masses are nearly as numerous as the billions of stars which compose them.  As far as their emissions will carry, they are found alone or in groups - clusters, superclusters, long strings of a billion light years long - suspended in space and moving in response to the ebbs and flows of the universe.

The star/distribution ratio of the galaxies, like the stars on a smaller scale, suggests that a concentration came from an extremely large gathering.  There is, however, one important difference between star formation and galaxies.  When a cloud of gas and debris swirls in upon itself, the inner parts rotate faster than the outer reaches.  Galaxies don't spin that way, they rotate like a wheel.  The galaxies did not form from preexisting matter that aggregated and collapsed, they formed from cauldrons of creation that spun out like pin-wheels.

Astronomers now believe that most if not all galaxies have at their center a Black Hole.  The discovery of these strange denizens of our world was by deducing an ultimate concentration and collapse of matter so enormous that even light cannot escape.  It now appears, however, that a Black Hole is actually the simmering cauldron after the pot boiled over.  The level between simmering and overflow is between containment and the release of matter and energy.  A Black Hole is more than looking down into the collapse of a superstar, it is staring back into the Abyss.
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